l
I

(2 marks)

3 . v : The wer
Question 1: Classify each variable as Qualitative or Quantitative, Fhe ans

The variable that records length of roads in the city. 9?__:“:‘_7—‘“# -
The variable that records distance between countries, QQ QC%_@_.
The variable that records types of pens. ® 9.3_-1:—-—~
The variable that records colors of flowers. CQ;.LQ;'\.——
(2 marks) .
Question 2: Classify each variable as Continuous or Discrete. The answer
The variable that records numbers of students in schools. Ok (S —
The variable that records age of people in KSA. c’s
The variable that records heights of buildings in the university. chs
The variable that records numbers of integer numbers in intervals of real numbers. A xS ]
(2 marks)
Question 3: Determine whether of the fellowing statements is True or False. The answer

F(z) = P(X < z) for some z € R. j e —
The mean of data is sensitive to extreme values r—v

If of isanalgebraon 2,then @ € of.

The statistic X is an estimator for the variance o of a normal population.

K —= M e = %e—-—‘_&."\)

(2 marks)
| Question 4: Put the right word or symbol in its proper position:
parameter, of ¢ {)statistic, Q € sf, permutation, combination, independent, mutusl exclusive,
Two events 4 and B are sen M wea if they have not common elementary events.
Selection r distinct objects from a set of » different ob_;ects iscalleda. Q’?‘WW/’" .C;:,M\O !
Ifa of is an algebraon 2, then ........== aé‘@ ........ .
The point estimation is an estimate of the population ..., Oxf"“\ Qb@’\'by a single number.
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(7 marks)
Question 5; Consider the following data:

16> (7 122 (13 125 20 (17 44 G> 14 %
16) G ® & & % m (0% (b 4D &
12 B O @G 7 a1 05
Then:

8) Complete the following frequency distribution table for the given data:

Ascending Cumulative
Class Limit Class Boundaries Midpoint Frequency \ Frequency (ACF)
Soce S
\' e S 0.5 —»5_? \-(-;5_:_ = S
&— \o|

_ 55-105 | &tz R

\|—1S 10.5 —15.5 \ R \S
\6 -~ 10 15.5 5205

\

\

\

\Q \® |

7Y — 15 20.5-»2&3_.5/ \\

Q=
Sum

.;‘;;2’.:... ....:;\:?;.l%...ﬂ &Q»—- ? b) ...............................................................

Vo-vw- ) R.¢
e=A8.S-\0.8
_'.3'2,..\55.)(5 ................................................... = S

....... NO. S ... 08-(. T

¢) Calculate the range of data for the above frequency distribution table.

--------------------------------------------------------------------------------------------------

d) Draw thg@@ (ascending cumulative polygon) of the above frequency distribution table.

——— T e et i ST

-y
7 2
ACF Act I
! '
6 = ) ] ] . 1) ] ] ¥ L] [
L ' [ ] » . [ ) | » L) . " ¥
66 K 4 . 0 SN s R * v - Armtew yeeean resass
E : § e ’ . ] . ]
M ' s Y . )
J' : t b =i ---- -
' ' ] v '
3 & a [ R decenma -
' ' ’ ' () 1
. » b 1 1 ®
3 2 M mm—mew - R r
i H P . ' 1
.'l .......... :.-.--
? (] (]
memedecnna dovcana [
) 1] L}
" ] .
P T ppy emrma reem-
L] L] "
P, ---..: ..... tecaad ". .....
L] (] 1
memcdemana deonea .~
[} 1) L
. \ 1
Temameccen P renna
L] L]
--..-...:.-.--% ...........
' .
¥ t

305 Class Boundaries
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(10 muarky) "
P , Then:
Questlon 6: Consider the data: 9 ,;/, }/, 9,;.’7/,/‘- 7, by 16.9:

a) Caleulate the mean for the given data.

.
------------------

Gl A A S <0 CLES LK
n \A

b) Calculate the median for the given data.

wereesTinanpssnnsd
——
Tl u."-rﬂ'lw"“ e

%c Ao
S= Scc X S F"S-q‘z

¢) Calculate the coeffigient of variation for the given data. a
’ ' g =92 y Ao Va
M ------

For Qa: Y‘:,-%-S(.'{—hmxt}qr =
r‘?_..-yq...ﬂ.'...ﬁ.c...x voaf3 q.) ...... o C;’ . R q .............................

For 1F: Qe M S LRy Q5B \.S(a=8).z=\

--------------------

--------------------------------------

b) Draw the box plot for the given data and determine the five numbers on the graph:

Q\ @‘1 @? 4% 'Kl_,

e
_-Iiéii':ij_id:é 1&:1}11‘5.131&1'51%1271:819

Q?f-"— q ' . Scanned by CamScanner
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(3.5 marks) s
Question 7: The following data represent the grades of students:

e g 2D - |
& £ ¢ c@ @ ~ \
CNAS u
32 2@ B ® B ‘
P> 2 BT
3 8 3 d @b 3 ®
Then: N
a) Complete the frequency table for the above data.
Grade Frequency Relative Frequency Percentage
4 I T 207 078 Ye
8 A\ H —exg 28 Y%
C = L —=o.22% '—)Q.-S"ob
0 6 gg = O\S \S’c‘.'c
sum o \ Loo 9 /]

b) For the above data, calculate the measure angles of categories of the pie chart.

For category (A) the measure angle = (. 2 75)( $66) =
For category (B) the measure angle = (& ->S™ )}( 28 )=

For category (C) the measure angle = ©-22¢ )( 3¢s )=

For category (D) the measure angle = (.15 ) 3e )= /\

(2.5 marks) H \y
Question 8: If [Q,sf,P] is a probability space of tossing a fair coin three times, then: / \

W L\/\

Dctermme N1, of and P for this random expenmcntg\\

T -
\m\wx\\ NSV S W— (NN flf \
TMTT AN SW T IO, DL JH\mHWH &
Q e \A} = \A\
b) Calculate the probability of gettin % a{ most one talls -
e 1 e e
c) Calculate the probab:hty of getting three heads or three tails. \-<2\ @
...................... Ak _
N, vy SCed el T2 T
L SR~ L) &
-4-
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aRe ahe alye sAwer / OJC)\N/QWQM

(3 marks)
Question 9: We select three

balls randomly and at the same time of a box contains 4 black and 3 green ball
If all balls have the sam |

e chance at selecting, Now:

8) If 4 is the event that the selected balls are black, then calculate P(4). \ A g J

.......... TN Y G

------------------------------------
---------------------------------------------------------------------------------------------

b) If B is the event that the selected balls have the same colors, then calculate P(B).

= - —

‘ secndirrrne
. } g “!g [P PP PTY LTI L L
= “"M" .“g" e "“K \ . TPy T YT LLLLLLIL L DAL b
‘:- * - "'{- P )
Vr—tssaniLe . PO PP P T TTTTET LT
PO PP ITPTRTT TIT TELIL L
seeses tessnastarananes
seessersanaann

........................................

¢) What is the probability that the selected balls have different colors?
BN T TN\ TN = (< T Y=t S——

- - ¥
(3.5 marks) GCX' 2-=%y (o b

N EY letX:Q——R bea
Question 10: Suppose that Q ={1,2,3,4,5,6} 57 =2" and P(4 =1l Now, e _
0 fOT‘ ﬂ)=133:5

random variable on the probability space [92,5f, P] defined by Xi (@)= {1 for 0= 24,6

Then:

ars i
) What is the name of this random variable and calculate the probability P(X =0)1
a

d? ........ for z<0
........ .
_) Cyz3d. frosz<l 5
the event in the relation: {w e Q;X(®)s z} = Xuss
e

b) Determin \f\';,ii.l.?’.;.g.,s‘,é orz2l A=
~
— ; . a]‘]d draw it. W
c) Determine the distribution function E\ | ‘
o P %
05
025
0
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(3 marks)
Question 11: If we have Q & Sp2 ‘
P (A)=0.65 . Then calculate the fol'lo»(mg

) P(B)= ....Q.\.B.\J&}..".-‘...

b) P(A\B)= ..Q,.\.A‘)::..EE.Q.Q.S?)...C—'..Q.-.’},S‘..»
¢ P(ANB)= RV ) o ARl

....’.7,-“..9..:9.

d
ce of elementary evens, 4 an

‘Qrfss...k..@..\..?ﬁ).ﬁr.’?.t

d) P(4|B)=

..................................

R AN RA-BD: RLADS L

................................

cerrrsenie

¢) Aretheevents Aand B indepen?em? and why?

(3 marks)
Question 12: The results of 10 students on Stat quiz marks (X) and Math

B e2® with pANE

pro‘)ab“iﬁBS: 2 3 ......,..................................,
: Qwﬁﬂt‘\\i 5752 o AR)
RS
- R .\...::‘:-..CD:: .

)z 0.10, P(A UB)-O'-’SM
...-——\-"-_"Hr

0'75'?-*‘39'§

cesapsnapennreas’

----------
------------------
........................

quiz marks (¥) are as follows:

x| 24 ].5]s

9

y | 4] 5|6 |7

10

a) Represent this data on lh
3 —
X f WhES o

7 20 TR T e
-4}

0 -
b) If you know that >z, =54 ,
=1

=1 =) p— =1

10 10 10 10 10
Sy, =66, )2} =350, 24} =478, D z,y, =405, ) (z,~E) =584,
——

=

10 10
3y, ~7) =424 and " (z, - E)(y, - ¥) = 48.6. Then calculate the coefficient of correlation (r).
i=l i1 .

{
=

-----------------------------------
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(.5 marks)

that in on .
Ofﬂ_.m one of the working shifts a random sample of new
A based on sample of size 144.

-\

i T s e S

—_— TTNEVRU S RPN PRUTUTRITIRT WEPRY , I W ¢ e NSNS

= Ty SR, AR NHBATT ..o
(5 marks)

Question 14: :
- s 14: A simple random sample of 81 students {r
- ~ - e ——————
._a_gi:{‘i_‘_"lth standard deviation 0.75. Then:

a) D i
) Determine 95% confidence interval for the mean GPA

- ST 2 S T - W=7 LSS \r 2295

...............

...........
............

.............
..........................
..........................

......
..........
...................

b) USing the signi , \
c significance level o = 0.0099 for testing the null hypothesis T : # = 3 yersus the aller!

hypothesisH, : p> 3.
........................................

---------------------------------------------------------------------

...................................

bulbs is tested. Wh

om & university yields

of sl students at the university-: %{

Question 13: We suppose that the number of defects in newly mnml{ﬂﬁt“md bulbs in €8¢

T_F'F"“gb jotion o =1
%‘f‘m distributed random variable X with a mesn p = 5 and standord devistion

\

X
|
\\
h working chiftisa
95, Now, consider

at is the sampling distribution \

---------------

--------------------

---------------------------

--------------------

------------------------------------------

----------------------------

‘;u:\mmmsaz\n\
8

5916
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